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CHEMISTRY
(Skill Enhancement Course )
Answer the Questions from any one Option.

OPTION-A (Analytical Clinical Biochemistry)
Paper : CHE-SE-4014

. OPTION-B (Green Methods in Chemistry)
- Paper : CHE-SE-4024

OPTION C (Pharmaceutical Chemtstry)
Paper : CHE-SE-4034

| “asy OPTION-D
( Chemtstry of Cosmetics and Perfumes)
v Paper : CHE-SE-4044

OPTION-E (Pesticide Chemistry)’
Paper : CHE—-SE-4054

OPTION-F ( Fuel Chemistry)
Paper : CHE-SE-4064
Full Marks : 50

- Time : Two hours

- The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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‘ OPTION-A
(Analytical Clinical Biochemistry)
Paper : CHE-SE-4014 .

Answer the following quesﬁons: T 1x4=4
Oe 2P ©e fadl ¢ '
(a) . What is Giycemic Index ?

AR s [ e

(b) Name one squhur contammg amino .
acid.

quﬂﬁa aﬁa af?r@am%ﬁnl

{c) Which part of our body synthesize and
secrete HDL ? C

T S (R WE HDL RO m"

R a2
(d) What is Hemostasis ?
N CEhE e ‘
Answer the followmg questions in brief:
2x3=6
Sot emw S e fm s

(a) What are triglycerides?- What is the
alarming level of triglycerides in our
blood ?

GizfanizeTE &2 SR (9 W?ﬂﬁﬁﬂwﬁ—
@ e
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(b) What is the role of Insulin’ hormone
in our body ? Which part of our body
produces this hormone? -

SN AT B 2w Shi 52 %9
(IR SR R TR BeoAw A

(c) -Mention the basic dissimilé_ritics in
structure between DNA and RNA.
ﬁSéFhQGW@EmaéFhﬂasmﬁ“Qmﬁeﬁﬂaciﬁﬁﬁ

- EEPTR SEd 1|

3. Answer the followmg questions : (any two)

5x2=10
O PTG ﬁm s (Rt g51)

- (a) What 'do you mean by Epimer? Is
- - fructose an epimer of glucose? Give
examples of three epimeric pairs of
glucose with their individual structure.

_ ' 1+1+3=5
SREmR o 3@ g g 3N

= @ gEwd R @R P Tam

| e SoreE AR TCe, Wi Al | |
(b) What is denaturation of protein ? How

it occur? Explain the factors
responsible for it to cause. 1+1+3=5

oo RpFoPael 62 T (AL T 2 2R AR
| i TR J9i e
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(c)

(d)

What are»nucleosides and nucleotides ?

Give an example of each with their

structures. 2Yox2=5

ofizs wr FORRBRETE 7 20w

&% izt DT siowR G S A1

Name the two fundamental ‘building

blocks’ of lipids. Write their structures. -

Give an example of lipids carrying those

building blocks along with its structure.
2+2+1=5

feifsre aT et Amda w1 e fafes
7% T AN a6 | PR FMOTR T 9 |
13 Rffes ootz o «ikix e a1 cramrsiy
omigfa Fret o IS Tuizad wife 4|

Answer any three of the following

questions :

- 10%x3=30

-aaﬁzarmﬁ%‘rmﬁﬁm

(a) What is enzyme ?

ey [

Define the folléwing terms :
Oo1q AT vigest i ¢

(i) Isoenzyme petarie))
(i) Apoenzyme (49'GaIZ)
(iii) Holoenzyme (2o 9aiE)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G ~ 4

(b)

(c)

(@

3 [Sem;4/CBCS} CHE SE 1/2/3/4/5{6/G S

Mention the seven classes of enzyrnes
and bneﬂy describe the type of reaction.

they catalyse. Give suitable example of
each class. 1+3+6=10

m_\j FP G (TE e 4 e
F12o3 slrere SHee 1 Rfdrame
A 2T (#TH WA Twiead 7if |

Discuss in detail about classification .

of Protein by giving suitable examples
of each class.

%quawgﬁmmﬁﬁwﬁm
ﬁwwrww;

- Explain “The central dogmé of
- molecular genetics.”

-‘WW%@@W@@?IW’;%?W

90

What is Glycolysis ? Explain briefly the
various steps involved in glycolysis. -
Write down the overall reaction of
glycolysis. 1+9=10

s e i 2 TR Ao b i

| WWW!WWWW

ﬁvnl
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(e) Describe how human blood is classified i . - OPTION- _
according to the ABO system. How the : {G reen Methods in C hemiatriy)
donor-acceptor compatibility is ‘ .
determined based upon this E - Paper : CHE-SE-4024
classification ? Explain. i

‘ ¥ . 1. Answer the following questions :  1x4=4
ABO =Tafo SNl W e cowd fon | T SPTIRR eq 31 2 |
SRFPTR I 91 | 31N ¢ fefe o[ (omm | .
i < W@‘?‘ﬂﬁ i ﬁcﬁ | - i [a) Fill in the blank:
W” SRS S | N S t_ﬁmqﬁw A RS
(f) Write short notes oﬁ: 2%X4=10 ' , % Atom economy = —— x100

vﬁmwm = - % 100

o (Oel fordt ¢ . - e
' |
) - ) o (b) The fuIl form of CFC is .
. { .
(i) Stru,cturev of protein | | | (Fill in the blank)
ofoms sigq x e | 7 I CFC 3> f oot et .
(i) HDL and LDL - - s (AT} éTE“ %99 )
ﬂiﬁ%é]ﬁ vsn'ga ﬂ?{f@ﬁ?{ ‘ | .- (¢) Name the starting material used in the
: : f green synthesis of paracetamol
(iii) Blood b111rub1n
_ Y | CoRIDORER (08 FCEITS IR (A awﬁsiﬁ
C\"-”",i” A L ol R A e
(iv) Mechanism of enzyme action 1 ' (d) Minamata disease was found as
- GTaiER T emfe - C poisoning. © (Fill in the blank)
- Eotinle fRaferae g wafeE
| (T} 31 799 )

1-4/CBCS) CHE SE1234f506/6 6 | |3 Sem-4/CBCS) CHE SE 1/2/356/G 7 -_ + Contd.



2. Answer the following -questions: =~ 2x3=6.

wm%wg

(@) What is called ‘percentage yield’? Above
which percentage, a particular reaction

is considered to have a good ‘percentage

yield’?

o] GeA I (LA ? G2 O ﬁﬁﬂﬁ
| R el erie iR <5t RS Rt
©ieT Mol T TR R et v
=l @? '
(b) Define Regioselectivity. Give example.

R ErehRte e | Tagd )

(c) What do you mean by green solvents?

Give example.
FIve TRE IfFTe ﬁs @i 2 W‘T ﬁzm
3. Answer any two questions : - 5x2=10

O TR Rl ght Sew e

(a) What are the goals of green chemistry ?
Mention the obstacles in pursuit of the
goals in green chemistry.

\‘ FiET PR T & e Glow w1
THPTIR PR (A 2! ATE Grad 9 |

3

K (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 8

i

e .

. (b). Write a note on green synthesis of
ibuprofen with chemical reactions.

IFiElE Ridrare wiizgeres Cﬂ@@ﬂ\m‘f{‘ﬁ’.
9o ol Gt farai | |

(c) Mention with examplé about the ultra-
sound-assisted chemical reaction.

e oo Al Rafs AR B
- faE Ty ==

(d) Write a note on-designing a green
synthesis.

GivE TR BT T GG @IS oY
Gt ol
4. Answer any three questions: 10x3=30 -
fzarra o5 ome Tes 1 8

(@) Write the principles of green chemistry.
Write suitable examples of any four

principles. L 6#4=10
oG AT TAARR o | ﬁ?mm 2IEE)
Tolotin ogE Twiasel v |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C 9 ‘ Contd. -



(b)

o

(d)

- development ? Explain.

‘What are Biomimetic, Combinatorial
‘green chemistry and sustainable
development ? How green chemistry can - |

play a vital role in sustainable

2+2+2+4=10 |

maﬁﬁmﬁ¢,ﬁﬁﬁsc#%@iﬁﬂﬁﬁﬁ?ﬁ$=ﬁaﬁm .

T 2 ISTTN TITR (FA9 (TOS AU

W I

' What are pressure-treated wood ? Why

is the use of chromium and arsenic
restricted in this field ? 4+6=10

‘cobia Bow mi%?Wm—W
IR o @3 g Ry o9 @

Write notes on the following important
applications of green chemistry in our
day-to-day life : 3+4+3=10

I AR G (iow IR woT SEd
T G3geY] Al (DR oS- (G feran s
(i) Dry cleaning of clothes

- IART GIE e L
(i)} . Versatile Bleaching agent
e e arers
(iii) Analgesic Drugs
(HIRME 87y

3 {Sem-4/CBCS) CHE SE 1/2/3/4/5]6/6 10

ﬁ$waa@@@ﬂm“—ﬁﬁﬁawﬁﬂaaﬁﬁrﬂma?aﬁﬁn_

. What are

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 11 - -

(e) Discuss the use of antifoulant in the

field of environmentally safe water
transportation. -

ﬂﬁﬁ’mﬁaﬁmﬂﬁ@mww'

microwave ass1sted
react1ons ? Why microwaves are
considered as a more efficient source
of heating? What are the three
categories of microwave assisted organic
synthesis ? Explain with examples.

1+2+1+2+242=10

NEFEe Fome seabs Rfvra @EmRs
TR R @R oo i Best g
51 N W2 meﬁ—‘c‘mw\mﬁ
m&i%ﬁﬁﬁs%?WWW 4|
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OPTION-C _ I 9O g Rew i RIS 1 0l
(Pharmaceutical Chemistry) _ : %ﬁf R ST R Wﬁa Eeg
- Paper : CHE-SE-4034 ‘ ‘ N FE
: - , (iv)] The first compound of a structural
1. Choose the correct option : . - 1x4=4 | : “ class of compounds to reach {he
' ' ' - market
G GGl e e ¢ _ _

(a) Which of the following statements best IS (M1 451 “Tf‘zlﬁ?f— CE@? Ay (ITI‘)T

describes a lead cofnpound P o (b) . Wh1ch of the followm<7 terms is used to
8581, e ' - describe a drug that has the same effect
ch“@' Eiwcnﬁ@@ﬁ% iCi\fslwlC I . °n a receptor as the endogenous
FRR2 : . ' ~ chemical messenger? :
i A compound that contains the WWWWW@W’B‘T © GF
. element lead g AR TN S TR @7 TS =1
R GTE 24t (el _ | TR T W 9
(i) A compound from the research ‘ (i) Agonist. .
laboratory that is chosen to go | ' IER
forward for preclinical and clinical - i ik
trials . . ! (ii) Antagonist
I =N Sfal (AR <1 (191 R ]’ GBI B
3 T
et % et = 2 INSE R Ry
(i) A molecule that shows some A ‘ ) Inverse agonist
‘activity or property of interest and | g: g o a8
serves as the starting point for the 3TeR 9

development of a drug

- 3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 13 Contd.
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() Which of the following statements best ’

_ describes retrosynthesis ? |
wR @O e (&G RN e |
IR2? ’

(1)

The reaction conditions required
to convert the product of a reaction
back to the original starting
matena.ls

ﬁﬁm@rm%wﬁﬁmﬂw@% ’

A strategy used to design -a

synthesis of a target molecule by
working back from the target to

“simple starting materials

TR Rl e R Tefs o IR

(iii)

WW@RW%WWW
&R (i

The design of a synthetic scheme
using cheap, traditional reagents,
rather than expensive modern
reagents ‘

T S Rl ARG AT,
TS Reviee AR i ooz
G ) - |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C 14

r(‘.

(d)

(i)

The design of reaction conditions
such that an equilibrium reaction
is pushed towards the products

rather than the starting materials

- i wwgR armE fToizs w4 qAce

<ot eIy e Rivmes sfkas
Rifraiee wnde T ofF fm =

Which enzyme is used to hydrolyse
starch to maltose to manufacture

~ éthanol by fermentation ?

B 23w AR T s A o

9 2?2

(1)

)

(i)

(iv)

3 (Sem-+4/CBCS) CHE SE 1/2/3[4/5/6/G 1S

Diastase

Alpha—atmylase
SiG b iG]
Lipasé

I

| Beta-amylase

[EIRCRIFG

cOn't_c_i.



2.

Answer the following guestions : 2x3=6
were Al et Uel el ¢
(a} Define chemotherapeutlc index and

(b)

(q)

therapeutic index.

@ RHETF e T cwfﬂ%%m
pircal ezl

What do you mean by pharmacokinetic
phase and pharmacodynamic phase ?

TRt WWWW%CW
o & @ '

Write down the chemical structure of
L-ascorbic acid. Mention its importance
for human beings.

Lnﬂwﬁ@ﬂmwﬁﬁﬁéﬂﬁﬁmww -

3T GG T 9|

 Answer any two quest1ons from the
following :

TR [Tl 7h) eee Tew il g

5x2=10

(i What are NSAIDs? Give an

example. 2
.Wﬂ’%ﬂWﬁﬁS 57 Bl Tuizel Al |

{ii) Explain the meaning of the term
‘prodrug’ using an example. 3

IR, Gl bR S g AL

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C * 16

(b) Write the chemical structure of

()

3 (Sem-4/CBCS) CHE SE 1/2/3/4/3/6/G 17

ibuprofen ?

ibuprofen and identify the chiral centre.
Which . isomer of ibuprofen is
found to be active as a drug? Write
the steps involved in the-synthesis of
1+1+3=5

T | G (PO SRR &y fepieel

| R SiRgeE ﬂ\m«rwm

T T

1) Name one species each from the
following microorganism class
which is capable of fermenting
sugar to citric acid: 1.5

‘Yeast, Fungi and Bacteria

o ST (T 2 it etefes A
foral R e o 99 oiEle 9o
Testim R AMTE

(i) Name the three procesées adopted
for the commercial production of

citric acid. : 1.5
mﬁﬁa&fﬁwaﬁi@?ﬁﬁwwm
4| [l aferar | for |
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(iii) Write down two commerc1al uses
of citric acid ? o)

25 «ibes ﬁ?aﬁﬁ%mﬁamﬁ$iﬁ¢m|

(d) Write briefly about the production of
, chloromycetin by fermentation. 5

W@W@?W%&Wﬁmm .

_'I%iinl

4., Answer any three questlons from the.

- following : : 10x3=30
,'ﬁﬁiﬁk@ﬁﬁfﬁﬁ#ﬁﬁa%m@ﬁﬁT

(@ (i) What minimum requirements
must an antibiotic fulfill ? Write
the chemical structure of
chloramphenicol ? Identify the -
chiral centre(s). What
microorganism produces it?

2+1+1+1=5

<5 bz & & o eiareHIe!
o4 R FAa 2 FANTRTER IS
ot 311l | DR (@ (F1R) o |
R wSieR T oo FE?

(i) What are sulfa drugs? Write the
chemical structure of sulfacetamide ?
Write the name of two ‘bacterial
species against which it is active.
Write the reactions involved in the
synthesis of sulfacetamide.

. 1+141+2=5

3 (Sem-+4/CBCS) CHE SE 1/2/3/4/5/6/G 1R

. QT 8Ty %?WW |
aigw foran ) R B e eenies Retm ]

A = O AN ORI | FACEEONRE

SRR TS Siee RfFapTR T |

) 6.

Whatis HIV ? What is AIDS ? Write
the name and write the chemical”
structure of an anti-AIDS drug.

ors. Deséribe the mode of action of the

(W)

_drug. L 14+1+1+2=5

tﬂ?ﬁ@ﬁr_ %9 Lﬂi““zz ﬁw a5l 3Ty

. sl G W B OR IR A
| @3 STeR fme g9 3 1)

What are soporific agents ? Name
two substances which may cause
insomnia. Which drug was referred
to as the king of barbiturates?
Name an antianxiety drug and
poin‘t out its other therapeutic
benefits. - 1H1+1+2=5

o R «res e SifaR 7% R A
w5t Awids AN A IR ST

Qa4 P Cafee ot St

FRRER BT AN o WS S
BRI TR TARSIOPRE SEd 4|
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(c)

(1)

(i)

What is a vitamin ? Give one
example of each water-soluble and

water-insoluble vitamin. Name the .

different structural components
present in vitamin B12. Write the
name of two bacterial strains used
for industrial production of vitamin
B12 by fermentation. Write the
name of a disease that occurs due
to the deficiency of vitamin B12.

1+1+1+141=5

B R Ao RS wie ke

sy fSoifm «bits Swrese |

- TebifE s y® 43 e sfiiers Some
T 71t | e = fobifim Rs 3 ermifas

TeolvTe IR T 75! (BRI AT
T vt | i R 23 wrers @l 9@l
QW9 A farel | '

In the lndustria-l prepara"cion of -

ethanol by fermentation— ‘
e o irem e agfoe—

(A) what is the starting material
and what percentage of sugar
does'it contain ?

ﬁﬁﬁiﬁsmi‘ﬂr‘ﬁ%ﬂﬂmﬂ
R A

3 (Sem-4/CBCS) CHE 8 1/2/3/4/3/6/6 20

@ @

(i)

3 (Sem-4/CBCS) CHE SE 1/3/4/5/6/G 21

(B) name two microorganisms
that can carry out the
fermentation. 1

T a1 21 707 SeGRE i foraf |

(C) what is the optimum pH
range for the process? 1
Af TR AR Wﬁﬁ pH ﬁﬁvﬁ
Rt ? ‘

(D) why is addition of oxygen
necessary although the process

is anaerobic ? 1
A0 GIRRS TES W -
(Aist IO Y ArEEEe

~Write the -structure activity

relationship (SAR) of penicillin
analogues. 5

(SIRBER GER 1o Tl T
(i) fl) |
What is leprosy ? Write the name

.and structure of an anti-leprosy

drug and propose a synthesis for it.
1+1+3=5

" Contd.




(e)

0

(1)

o vt oz T cal el bl 83
2 i 25 T IR R A4S ARl
faar) '

Write the structure of antiviral

drug acyclovir and outline its mode
" of action.

| afoetr G aBE TR A B

‘s o e TR Sl el 1 |

What are benzodiazepines ? What
is the trade name of the drug
diazepam ? Propose a synthetic
pathway for drug diazepam.

' 1+1+3=5

SRS e TiEEH 8TE

eI AW 5 Riarng Ted o)

BN &R b1 s B

Draw the structure  of
cephalosporin C. Name the 'two
heterocyclic rings present in its
structure. Mention the steps

involved in the synthesis of’

cephalosporin C by fermentation.

‘Mention one advantage and oné

disadvantage of ‘1st generation

. cephalosporins over penicillins.

1+1+4+2=8

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 22

1+4=5

e

(1)

3 (Gem-4/CBCS) CHE SE 1/2/3/4/5/6/G 23

,WW’ﬁHﬁﬁﬁéﬂw:@w;w

TS ToAfFs 2 I (IR Fer
T o1t e sk cwerstRe B

IR TS TGS “RCFIR Gzl 31 |
ColRplereT > ¥ geae GoE R @5

AR W% G5 SR T w9

Draw the structure of vitamin Bl
- - A . 2.
What is its function ? 2

foniim .3 ofot e < | B0 I e

Coﬁtd.



. OPTION-D

( Chemistry of Cosmetics and Perfumes)

Paper : CHE-SE-4044

1. Answer thé following questions from below

: . - 1x4=4
wTe Al TR BT B 3
ﬁ) Which . of the following chemicals is

used as flavouring agent ?

R (T IPTREAS cﬁﬂﬁﬁwmﬁ

TR A W2

(@)~ Acetonyl acetone
Ao TEeT @fo -

(.b) .' Oxybenzene' :
RlEesic

(c) Titaniﬁm oxide
BisfRam smize

-{d) Octrizole
“fen

3 (Sem-4/CBCS| CHE SE 12/3/4/5/6/0 24

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C 25

| (W) Hydroalcoholic solution includes
G FrLerT 7@ Ry
(@) nail polish remover
A AR S _
(b) aftersav'e o
RIS
"(c) | hair oil
pied (o
‘(d) bath oil
A-C4RT o
(i) Oil in water emulsions are used in
ARG (oot ZATA! T T
(a) hair conditioner
plel S TSeaTe
(b) sun screen
B e
(c) diaper rash cream
. TIEAR ({§ FITe

(d) vitamins

- feBifm 2piE

Contd.




®

i) Body odour d evelops as a result of , (n) Write two 51de effects of the use of hair
secretlon from . i :
R TS gT waE ﬁWm%ﬂWI

wmﬁﬁwmﬁﬂwmﬂw&ﬁ

(i) Write two differences of talcom powder

Si’ﬂil? - . : - , and face powder.
@ skin | o | 'WWW{TWW«WW
- | \ ANy fora -
e

3 AnsWer any two questions lfrom the followin-g i
| ; , ‘ Sx2=10
(i) What are .the ideal chracteristics of

ointments ? Write one.advantage -and

(b) muscle

(c) apocrine gland

G FIBT (2 | ; - © .one disadvantage of ointment. 3+2=5
S K e BIR e € S 1 1 3 o« R
i st - S | o o5 SR B _
9 | ' (i) What are the main ingrediants of cold
F ' cream ? Write briefly about the
2. Answer the following questions from below * preparation of cold cream. 2+3=5
' . \ 356 BN T @ﬂiﬁiﬂﬂ%ﬁ & e v FN
2x3=6 _
A . | _ ; - ogeseR [RE vyt ) .
TS ot PTIR Oe o ¢ . e (i) What is antiperspirant ? How they act ?
. S ’ ! ) 5
() Write any four functions of cosmetics..
N ‘ . E aﬁmﬁmﬁﬁ\m%mmﬁﬁmﬂﬁ
MWWWWMWﬂ_Wl . _' oA e foral |
3 (Sem-4/CBCS) CHE SE 1/2{3/4 / S8IG 27 . . Contd.
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(iv) What is suntan lotion ? Mention three
uses of suntan lotion. .. 2+3=b

| B A 2 » 3R FORG! TRZT oz |

4. Answer any three questlons from the .

following : 10x3=30
woT Fal ePeTEs e fofabld T ol &

(i) Explain the term cosmetics. What are

the various categories to classify
cosmetics ? 2+8=10

et e 1 gat 2 3R () Reteem Ko

SRFIPTR I 4
() Write fwo importances of each one of
the following 2x5=10

O AT FIF AT T 9 ¢
(a) Civetone
BRws |
(b) Eucalyptus oil
BRATE (oo
(¢) Rose oil
G (T
(d) Sandalwood oil
(BLETEG (Sa
(¢) Eugenol

Py

3 (Sem- 4/CBCS]CHESE 12/3/4/5/6/G 28

(i) Give the method of preparation of

(i)

Shampoo. How can you differentiate
between hair remover and nail polish
remover ? e 5+5=10

Wﬁ@@ﬁﬁwﬁ%mmﬁww
T F39 2o oIS Were oL F e

What are the best sources of geraniol ?

What method is adopted for its

extracltion'?'Discuss its uses.
2+2+42=6 .

fEsifere Cepe diphos Sl 52 Za
@F@%W%%WWW@?W
WW%QM '

Write the two cosmetic uses of each
2+2=4

(a) Oil in water emulsion
(b) Water in oil emulsion
(a) S (S5 WF

(b) 55T AN, ﬂ?@fw Wﬁ‘mﬂ?{
' maraw _

3 (Sem-4/CBCS) CHE SE 1j2/3/4/5/6/G 29 Contd.




(v) Write in short about the following : OPTION-E
| 545=10 - | | (Pesticide Chemistry)
e ﬁ'm Sar T Wi | ' Paper : CHE-SE-4054 |
(a) Cosmet1c safety o ' I. Answer the following qugstioné:  1x4=4
el et - _ T fral et Beq firt ¢
(b} Advantages/contributions of : (@) Write the name of a plant which is used
colouring agents in cosmetlcs. ._ _ as insecticide.
preparatlon : : ‘
2T W‘T‘Wa@»‘ﬁ TIPS B kil A

et . | - af | (b). What is the trade name of Benzene

Hexachloride (BHC) ?
(vi) (a) Write briefly about the actlons of ( )

cold cream, vanishing cream and . (A WW (BHC)WW%?
shaving cream. N Leah . | (c) Define the term Rodenticide.
T T, (SR T T (@SR N ——
| RN TS S | | o o
(b) Write briefly about hair waving and (9] - Wtk is Bondeaponmibure §
" hair straightening agents. 4| S 69 fmd 2
| Eg?mﬁ;jnj:; gjmg; ?ﬁﬁa TR 2. Answer the following quéstions : | 2x3=6
‘ ' oo firat eppTRd G i 8 e
(@ What is a bio-pesticide ? Give an
example.
oA e Lﬂfﬁ Twizad frat |

3 Sem-4/CBCS) CHE SE U2/34/5/6/6. 30 e, Aot 3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C 31 - Contd.
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(b) To which cherﬁical class of insecticides
" does DDT belong ? Name another
insecticide that belongs to that same

class.

T RET @wE IES mﬁaww
Gig (@ (AT e i b1 FoIE I

forall |

(c) Draw the structure and IUPAC name of |

alachlor.

aa@?&ﬂéﬂw\mwmwwiﬁﬁa
foam frar

3. Answer the followiﬁg.questions : (any two)
| 5x2=10

weTs il eperR O ot 8 (Reicen 1)

(a) Write a short note on Malathion.
* WeifeEaE s afb 55 Gt B |

(b) Write down the chemical structure of
gammaxene. It is also known as HCH,
elaborate on this acronym. Mention two

“uses of it. ' 1+2+2=5

S{IRET TP st Bt 1 30 HCH 3fte -

(PRI, ‘ﬂ?{ﬂxﬁﬂ;@ FAWR CE BSI0) ﬁXTTT@ %[-an‘ |
AR 707 97 Sezrd 4|
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(c)

(d)

(@)
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Draw the chemical structure of
butachlor. To which chemical class
does this insecticide belong ? Briefly
describe the chemical synthesis of
butachlor. : - 1+1+3=5

R AT a1 e | 43 F
Gﬁaammﬁacaﬁawmﬁ; ? O IR
ﬁaﬁhmasqtﬁw$ﬁaﬁn

What are natural and synthetic
pesticides ? Give examples of each class.
Mention two advantages of -natural

pesticides over synthetic pesticides.
2+1+2=5

T SR e S .
«oies Tzt et | plaw Floariaecs apless
Wfﬁfﬁﬁﬁ@@ﬂW|

Answer the following questions : (any three)

10x3=30

@a@ﬁmwﬁmzﬁa@@aﬁmwsd%ﬁmmnﬁﬁﬁv

Give an example of Quinone pesticide.
‘Draw its structure and mention [UPAC .

name. Discuss briefly the synthesis,
properties and uses of it.  1+2+7=10
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(b)

(c)

(@)

(e)

WW&WW‘TWIWWWW

wmmmcm%mmairrﬁﬁ@ﬁ ol

‘Discuss the merits and demerits of

pesticides.

W@‘TWWWWI

Discuss briefly the synthesis, uses and
harmful effects of DDT.

% T o e, i i oo 2o R
BICF SCETH! 1 |

Write briefly on the classification of
pesticides (based on the target organism)
citing suitable examples of each class.

A0 (AT Toige Twigadl [ Fioamiss
T Rereme aE (W@@GW e sR)
b'a?zﬁ%ﬁnl '

(i)‘ What is Folidol ? Draw 1ts chem1cal
~ structure. : # 2

’@WﬁWWWWW\WWl

(ii) Outline two major distinctive
features of organophosphates from

other insecticide classes, 2
SR T o] ST PR
701 A4 T TaRIRR R B |
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=

(i) What are agrlcultural pesticides ?

()

(1)
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Mention the name and uses of two
“agricultural pesticides. 2+4=6

FRETS TR e 757 $here
meﬁﬂwﬁw

What are carbamates ? Propose one
method of synthesis for both
carbofuran and carbaryl. Mention
two major disadvantages of these
carbamate- insecticides 1+4+2 7

wﬁmﬁw wwwwﬁa ’
WRIDIE T 2gfed Bt simfeq A

'%mlﬂéwﬁﬁﬁaﬁwzﬁramﬂ

wﬁm@@wﬁﬂ‘n

Discuss the symptoms observed on
carbofuran p01son1ng 3

I i A e (el it ey
ﬁmmmmwi
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OPTION-F _

( Fuel Chemistry)
Paper : CHE-SE-4064

f\nSwer the following questions : 1x4=4

wote fral e Gow ol 8

(a) What is the composition of water gas ?
' (eF IS RIS 4|

(b) Write the percentage compositions of
gases present in CNG.
CNG'® 9 (gRIRR *[oa1 3yfs i |

(c) What is the advantage of alcohol-
blended petrol ?

@1 Zel [WiES (oG Ry o
(d) Name one solid lubricant.’

51 (oIt PPt A frair |

Answer the following : =~ Ix3=6

weto MANRRT Tes o ¢

(a) . What do you mean by non-renewable
energy ? o '
TR B e e B g

(b) What is coal-liquifaction ?
THAR T 9

c) What i - '

(c) s g ?are the disadvantages of uses of

CNG I92R SR4iraiq Gl
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» Answer any two of the folloWing questions :

.- 95%x2=10
TS WA it g e Tas fa g
(@) What do you mean by lubricants ? How
lubricants are classified? Give
examples of each class. -  1+3+1=5
fofveereRe IFe & @iy FiteseEiss
Eﬁ;@ SR (R ? SO GrPIBIT. iRl
q1 | ) :

(b)) What is Naphtha ? Write the products

obtained when Naphthas are allowed
to undergo steam pyrolysis?  1+4=5
T WA T2 AR AT S0 FoTo
Beom @A AR |

() What are the compositions of producer
gas ? Between producer gas and water
gas which one has more calorific value? "
Why is producer gas used immediately
after its production? What are the -
advantages of natural gas?

) " 1+1+1+2=5
oG (o RIS o1 efSCoR (o o
T (T TS (AR @R OET @R
SfST5A (g B (TR ael ol W
o R S Agphes (o R e e

(d) Write the . petroleum fractions (_)f the
products obtained during refining of
. crude petroleum. Also write their boiling

ranges and uses of each fraction.
' 3+2=5
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CTAIRIR Bl | (9@ Swetisad sifem B

L AT T G TR |-

4. Answer any three of the followmg

questions : 10x3=30
- eers Al farpier folan e Ter el g

(a) What do ycu mean .by coal gasification ?

Write the flowchart of coal gasification
process. What are the advantages and
disadvantages of coal gasification ?

2+4+2+2=10
ﬁaﬁmcﬁémﬁsqﬂnaﬁ%9aswncw%aaswaﬁmq'
‘ ﬁ—avmpr—aﬁfiﬁ#mlawwnCﬂétﬁmwmwﬂ%m*

S SPIREIEN S
(b) What is’ cracking of petroleum ? Write

the products of thermal decomposition

of n-Butane. Draw the flowchart of
- Fixed bed catalytic crackmg What are

the advantages of catalytic cracking? -

2+2+4+2=10

_Cﬁﬁﬁtnwaca#$\§ﬁtﬁiﬁiqsﬁ9avﬁwﬁﬁﬁﬁna“

Ol [FeR917R TeTe Geotn (gt Sestmarard Bl |
Rt e et o1l B g o1l
Gﬂﬂwﬁwiﬁ—ﬁﬁﬁ:w%mtmaf%wn
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)

(c)

(d)

_What are the functions and

characteristics of lubricants ? What is
viscosity index and what does it
indicate ? What are additives in
lubricants ? Name some ad,d1t1ves to
improve the lubrication in oils. -

.. 343+242=10
PiftweRET m O welads Ra B
izl el s B o 3 B fiok
e 2 eifBaeTeeasT et <piee < i careracar
2 2R G @ B

What do you mean by renewable and
non-renewable energy sources ? Write
about solar cnergy, advantages of using
solar energy and also write

: disadvantages of it. What is geothermal
-energy ? : 4+4+2=10
| ﬂ?ﬁﬁ%ﬂﬁ]EW$EW€HEWNWUWf;§ﬁKET%

@l GG [Raea Bt o cTaifers R
sarwqﬁammafﬁan<§mﬁhrwﬁ?smsf%?

What is biogas ? Write the compositions

-of biogas. What is biomethanation ?

Write on biodiesel and transesteri-
fication reaction as well as flowchart

of biodiesel production.
2+2+1+2+1+2 10
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By qrrioroer REw @l (EraeiRiTes

: ﬁf‘@m%anwanm’ﬁgcw@ewmﬁa
o 4 |

() () Define octane number of a fuel.
How a vehicle select a good quality
fuel for use. 2

o W R ? @4 AR A O iﬁm
IR T ceﬁmtas foare 2
(i) . What are the bas1c compositions

of crude oil? Mention the basic
principle behind its refining

process. 2
weifRceiifte coete Joros 6 i ? @B (o
AR IR T ©og By T

(i) How are cloud point and power
point of a lubricant measured ?
2+2=4

T (@ T T e '

(iv) Write your short comments on
future of renewable energy In

India’. 2
“SRTS RTINS =i I SRS

T5iFS (oI by Wore @Al |
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